“If You Can’t Run You Have Got To Hide”
GPS Investigation

July 28, 2009
By: Karen Stanley

Prior Knowledge Needed for Activity:

In order to complete,” If You Can’t Run You Have Got To Hide”, students will need a good understanding of the various classes of animals and their habitats.  Along with this general idea, students will need an excellent understanding of physical, environmental, structural, and behavioral adaptations seen in animals. This is not simply understanding or reciting the vocabulary definitions but rather a true conceptual understanding.  In addition to these adaptations, students will need to understand that a change in species over time does not occur quickly but rather often over thousands of years. 

The riddles or clues that are to be solved to find the next waypoint, require the students to have a solid understanding of number sense and the process of problem solving.  The students will be asked to solve a variety of problems often using multiple operations consecutively.  Solving multi-stepped problems can often be challenging for 5th grade students and might need to be modified to fit their needs and abilities.   
Safety Issues:

As with all investigations that involve students going off in groups outside, adult supervision will be necessary.  This means that the students will have a parent volunteer with them as they complete the GPS course.  The students, before beginning the investigation, will have a clear understanding of all expectations and requirements.  The adult involved will only be there to look over and guide the group as needed.  Any student that has severe problems with self-control will always remain in the group of the supervising teacher so as to minimize the possibility of problems.
Management Suggestions:

The GPS lab was designed to be a culminating assessment of the students understanding of animals and their adaptations. While the lab should be completed in about an hour, it is not a new concept.  The children will have just worked on and completed the unit titled “Guess Who? Guess What?”  The lab will clearly be a connection to the earlier work completed by the students.

While small in number, the completion of the lab itself will require the student to be able to follow simple directions, work cooperatively with team members, and show their understanding of science and math concepts.  This particular lab was designed with the understanding that only two GPS units were available in this particular building.  Because of this, parent volunteers will be utilized to ensure students are being monitored at all times.  Also, prior to the parent’s participation, the teacher will invite them for an informal informational opportunity to really understand what the students are doing and how to assist if they get stumped.  Since the teacher will have ample parent support, during the informational meeting, parents will be sought to arrive early and to place the clues at the appropriate waypoints.  
Since the investigation will remain on school grounds, a permission slip is not needed.  However, a detailed explanation of the lab and the expectations will be sent home to parents.  In the event of inclement weather, an alternative date will be selected with parent volunteers to complete the investigation.  In the event of lost clues, parent volunteers will have an extra set for each waypoint to help deal with situations that are generally out of our control.  
Science & Math Concepts:
	Science Concepts-Grade 4
	Science Concepts-Grade 5

	-Animal interaction within the environment

-Identification of environments

-Identification of specialized structures 
	- Animal Structures

- Animal Classes




	Math Concepts-Grade 4
	Math Concepts-Grade 5

	-Composing and decomposing numbers

-Classify and describe numbers by their characteristics

-Division, subtraction, addition, and multiplication

-Mental math

-Fluency with basic facts
	-Composing and decomposing numbers

-Describe numbers according to their characteristics

-Division, subtraction, addition, and multiplication

-Mental math

-Fluency with basic facts


Targeted Grade Level: 

The targeted grade level for this GPS lab investigation is 5th grade.  It was designed with the current fifth grade science grade level expectations in mind, as well as material taught in previous grades that will need to be reviewed for the purposes of state testing.  Because of this, the GPS lab would also be appropriate for 4th grade students.
Grade Level Expectations:

Science Grade Level Expectations-4th Grade

· Identify the ways a specific organism may interact with other organisms or with the environment.

· Identify and describe different environments and how they support life.

· Identify specialized structures and senses and describe how they help animals survive in their environment.

· Identify internal and external cues that cause animals to behave in certain ways.

Science Grade Level Expectations-5th Grade

· Compare structures that serve similar functions for animals belonging to different vertebrate classes

· Classify vertebrate animals into classes based on their characteristics.

· Compare the major organ systems that perform similar functions for animals belonging to different vertebrate classes.

Math Grade Level Expectations-4th Grade

· Recognize equivalent representations for the same number and generate them by decomposing and composing numbers.

· Classify and describe numbers by their characteristics, including odd, even, multiples and factors

· Demonstrate fluency with basic number relationships of multiplication and division facts.

· Represent a mental strategy given to compute a multiplication problem

Math Grade Level Expectations-5th Grade

· Recognize equivalent representations for the same number and generate them by decomposing and composing numbers.
· Describe numbers according to their characteristics, including whole numbers, common factors and multiples, prime or composite, and square numbers.

·  Use a mental strategy to compute a division problem
Objectives:

· The student will identify specialized structures and senses and describe how they help animals survive in their environment.
· The student will identify internal and external clues that cause organisms to behave in certain ways.

· The student will identify the various adaptations that animals must use to survive in a variety of environments.

· The student will compare structures that serve similar functions for animals.

Academic Vocabulary
· Structural, environmental, physical, and behavioral adaptations

· Camouflage

· Species

· Hibernation

· Migration

· Mimicry

· Offspring
· Gene

· Hereditary

· Multiplication, division, subtraction, and addition
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Teacher Copy

Clue: Waypoint 1

Imagine yourself at a picnic in a park. It is a beautiful day, and everything is just great! You lay out your food, build a fire, and start roasting your hot dogs. Then, suddenly, the wind starts blowing, the sky gets cloudy, lightning flashes, thunder rolls, and rain starts pouring down. You, your food, and your fire, all start to get wet. What are you going to do?

a. You could do nothing, in which case, your food will get soaked, your fire will go out, and you will get cold and wet and probably hungry. You might even be struck by lightning!

b. You could put on a big raincoat or put up a tarp to keep yourself, your food, and your fire dry while you finish your picnic. (Of course, you will still have to keep an eye on that pesky lightning.)
c. You could pick up your stuff, go under a park shelter, and use the gas burners to cook your food and finish your picnic.
d. You could just go home and have an indoor picnic.
e. All of the above

Answer:  E

Clue:  Waypoint 2

Every time a physical environment is changed, all the animals in that environment must…

a. move to a new habitat

b. adapt to the changes or become extinct
c. nothing at all because the environment will take care of them
d. adapt to a new eating pattern
e. all the above
Answer: B

Clue: Waypoint 3

Protective coloration to aid an animal to survive in its environment is known as…..

a. hibernation

b. migration

c. camouflage

d. mimicry

Answer: C

Clue: Waypoint 4

What four basic parts do most land animals have?

a. A spine, nervous system, two limbs, and a skull.

b. Eyes, ears, four limbs, and a spine

c. Teeth, flesh, four limbs, and eyes

d. A spine, ribs, four limbs, and a skull

Answer: D
Clue: Waypoint 5

Imagine a bird species. One day a bird is born with a beak that is longer than the beak of other birds in the species. The longer beak helps the bird catch more food. Because the bird can catch more food, it is healthier than the other birds, lives longer and breeds more. The bird passes the gene for a longer beak on to its offspring. They also live longer and have more offspring and the gene continued to be inherited generation after generation. Eventually the longer beak can be found in all of the species.  How long did this change take?

a. overnight

b. thousands of years
c. about five years
d. eighteen months
Answer: B
Clue: Waypoint 6

Structural adaptations are physical features of an organism like the bill on a bird or the fur on a bear.  What are behavioral adaptations?

A. a change in a species over a long period of time

B. genes that help an animal survive longer or better in some environments

C. things organisms do to survive

D. what happens to an animal who is unable to adapt to its habitat

Answer: C
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Group Copy: Hibernators
Clue: Waypoint 6

Structural adaptations are physical features of an organism like the bill on a bird or the fur on a bear.  What are behavioral adaptations?

a. a change in a species over a long period of time

b. genes that help an animal survive longer or better in some environments

c. things organisms do to survive

d. what happens to an animal who is unable to adapt to its habitat

To find your first waypoint, locate the value of your answer choice on the key.  Multiply this number by 10 and add 4.

To get to your next waypoint, you must take the previous waypoint number and multiply by 27.  Then add 5 to get your next waypoint number.

Group Copy: Hibernators
Clue:  Waypoint 5

Imagine a bird species. One day a bird is born with a beak that is longer than the beak of other birds in the species. The longer beak helps the bird catch more food. Because the bird can catch more food, it is healthier than the other birds, lives longer and breeds more. The bird passes the gene for a longer beak on to its offspring. They also live longer and have more offspring and the gene continued to be inherited generation after generation. Eventually the longer beak can be found in all of the species.  How long did this change take?

a. overnight

b. thousands of years
c. about five years
d. eighteen months
To get to your next waypoint, find the value of the first word in your answer choice using the key. Multiply this number by 4 and then subtract 80 to get your next waypoint number.
Group Copy: Hibernators
Clue: Waypoint 4

What four basic parts do most land animals have?

a. A spine, nervous system, two limbs, and a skull.

b. Eyes, ears, four limbs, and a spine

c. Teeth, flesh, four limbs, and eyes

d. A spine, ribs, four limbs, and a skull
To get to your next waypoint, find the number value of the letter you chose using the key.  Divide your last waypoint number by your answer choice.  Then, multiply your quotient by 3 and add 2 to get your next waypoint number.
Group Copy: Hibernators
Clue: Waypoint 3

Protective coloration to aid an animal to survive in its environment is known as…..

a. hibernation

b. migration

c. camouflage

d. mimicry

To find your next waypoint, find the value of the word you chose. Multiply this number by 3 and subtract 82 to get your next waypoint.

Group Copy: Hibernators
Clue: Waypoint 2

Every time a physical environment is changed, all the animals in that environment must…

a. move to a new habitat

b. adapt to the changes or become extinct
c. nothing at all because the environment will take care of them
d. adapt to a new eating pattern
e. all the above
To find your final waypoint, find the value of the letter you chose. Multiply this number by 10 and add 7 to find your next waypoint.
Group Copy: Hibernators
Clue: Waypoint 1

Imagine yourself at a picnic in a park. It is a beautiful day, and everything is just great! You lay out your food, build a fire, and start roasting your hot dogs. Then, suddenly, the wind starts blowing, the sky gets cloudy, lightning flashes, thunder rolls, and rain starts pouring down. You, your food, and your fire, all start to get wet. What are you going to do?

a. You could do nothing, in which case, your food will get soaked, your fire will go out, and you will get cold and wet and probably hungry. You might even be struck by lightning!

b. You could put on a big raincoat or put up a tarp to keep yourself, your food, and your fire dry while you finish your picnic. (Of course, you will still have to keep an eye on that pesky lightning.)
c. You could pick up your stuff, go under a park shelter, and use the gas burners to cook your food and finish your picnic.
d. You could just go home and have an indoor picnic.
e. All of the above

Take your answer choice and find the value on the key and subtract 3.  When you walk into the room, take this many pieces of candy out of the jar.  Good Work!

Group Copy: Migrates
Clue: Waypoint 5
Imagine a bird species. One day a bird is born with a beak that is longer than the beak of other birds in the species. The longer beak helps the bird catch more food. Because the bird can catch more food, it is healthier than the other birds, lives longer and breeds more. The bird passes the gene for a longer beak on to its offspring. They also live longer and have more offspring and the gene continued to be inherited generation after generation. Eventually the longer beak can be found in all of the species.  How long did this change take?

a. overnight

b. thousands of years
c. about five years
d. eighteen months

To get to your first waypoint, find the value of the letter your chose using the key. Multiply this number by 461 and then add 2 to get your next waypoint number.

To get to your next waypoint, take your previous waypoint number and divide by 3.  Then, add 97 to get your quotient to get your next waypoint number.  

Group Copy: Migrates
Clue:  Waypoint 4

What four basic parts do most land animals have?

a. A spine, nervous system, two limbs, and a skull.

b. Eyes, ears, four limbs, and a spine

c. Teeth, flesh, four limbs, and eyes

d. A spine, ribs, four limbs, and a skull
To get to your next waypoint number, divide your previous waypoint number by value of the letter you chose.  Multiply your quotient by 3 and add 4 to get your next waypoint number.
Group Copy: Migrates
Clue: Waypoint 3

Protective coloration to aid an animal to survive in its environment is known as…..

a. hibernation

b. migration

c. camouflage

d. mimicry

To find your next waypoint number, figure the value of the word choice that you made.  Multiply that number by 3 and subtract 82 to find your next waypoint number.

Group Copy: Migrates
Clue: Waypoint 2

Every time a physical environment is changed, all the animals in that environment must…

a. move to a new habitat

b. adapt to the changes or become extinct
c. nothing at all because the environment will take care of them
d. adapt to a new eating pattern
e. all the above
To get to your next waypoint, find the value of the letter choice you made by using the key provided.  Multiply this number by 10 then add seven to find your next waypoint number.
Group Copy: Migrates
Clue: Waypoint 1

Imagine yourself at a picnic in a park. It is a beautiful day, and everything is just great! You lay out your food, build a fire, and start roasting your hot dogs. Then, suddenly, the wind starts blowing, the sky gets cloudy, lightning flashes, thunder rolls, and rain starts pouring down. You, your food, and your fire, all start to get wet. What are you going to do?

a. You could do nothing, in which case, your food will get soaked, your fire will go out, and you will get cold and wet and probably hungry. You might even be struck by lightning!

b. You could put on a big raincoat or put up a tarp to keep yourself, your food, and your fire dry while you finish your picnic. (Of course, you will still have to keep an eye on that pesky lightning.)
c. You could pick up your stuff, go under a park shelter, and use the gas burners to cook your food and finish your picnic.
d. You could just go home and have an indoor picnic.
e. All of the above
To find your final waypoint number, find the value of the letter you chose.  Starting with that number count up the next five multiples and then add four to get your final waypoint location.  
Group Copy: Migrates
Clue: Waypoint 6

Structural adaptations are physical features of an organism like the bill on a bird or the fur on a bear.  What are behavioral adaptations?

a. a change in a species over a long period of time

b. genes that help an animal survive longer or better in some environments

c. things organisms do to survive

d. what happens to an animal who is unable to adapt to its habitat

Take your answer choice and find the value on the key and subtract one from this number.  As you walk into the room, take this many pieces of candy from the jar.  Good work!

Group Copy: Habitats
Clue: Waypoint 4
What four basic parts do most land animals have?

a. A spine, nervous system, two limbs, and a skull.

b. Eyes, ears, four limbs, and a spine

c. Teeth, flesh, four limbs, and eyes

d. A spine, ribs, four limbs, and a skull

To find your first waypoint, locate the value of your answer choice on the key.  Multiply that number by 100 and add 4.  

To get to your next waypoint, you must take the previous waypoint number and subtract 99.  This will get you to your next waypoint.

Group Copy: Habitats
Clue:  Waypoint 3

Protective coloration to aid an animal to survive in its environment is known as…..

a. hibernation

b. migration

c. camouflage

d. mimicry
To get to your next waypoint, find the value of the word you chose.  Divide that number by 2.  Take your quotient and multiply that number by 4.  Then add 4 to get your next waypoint number.
Group Copy:  Habitats  
Clue: Waypoint 2

Every time a physical environment is changed, all the animals in that environment must…

a. move to a new habitat

b. adapt to the changes or become extinct
c. nothing at all because the environment will take care of them
d. adapt to a new eating pattern
e. all the above
To get your next waypoint number, find the value of the answer you chose.  Take this number and multiply by 40 and then subtract 53 to get your next waypoint number.
Group Copy: Habitats
Clue: Waypoint 1

Imagine yourself at a picnic in a park. It is a beautiful day, and everything is just great! You lay out your food, build a fire, and start roasting your hot dogs. Then, suddenly, the wind starts blowing, the sky gets cloudy, lightning flashes, thunder rolls, and rain starts pouring down. You, your food, and your fire, all start to get wet. What are you going to do?

a. You could do nothing, in which case, your food will get soaked, your fire will go out, and you will get cold and wet and probably hungry. You might even be struck by lightning!

b. You could put on a big raincoat or put up a tarp to keep yourself, your food, and your fire dry while you finish your picnic. (Of course, you will still have to keep an eye on that pesky lightning.)
c. You could pick up your stuff, go under a park shelter, and use the gas burners to cook your food and finish your picnic.
d. You could just go home and have an indoor picnic.
e. All of the above

To get to your next waypoint, find the value of the letter you chose.  Starting with this number count the next 5 multiples, then add 4.  This will give you your waypoint.
Group Copy: Habitats
Clue: Waypoint 6

Structural adaptations are physical features of an organism like the bill on a bird or the fur on a bear.  What are behavioral adaptations?

a. a change in a species over a long period of time

b. genes that help an animal survive longer or better in some environments

c. things organisms do to survive

d. what happens to an animal who is unable to adapt to its habitat

To get to your final waypoint, find the value of the letter answer you chose.  Multiply this number by 307.  Then add 2 to get your final waypoint number.

Group Copy: Habitats
Clue: Waypoint 5

Imagine a bird species. One day a bird is born with a beak that is longer than the beak of other birds in the species. The longer beak helps the bird catch more food. Because the bird can catch more food, it is healthier than the other birds, lives longer and breeds more. The bird passes the gene for a longer beak on to its offspring. They also live longer and have more offspring and the gene continued to be inherited generation after generation. Eventually the longer beak can be found in all of the species.  How long did this change take?

a. overnight

b. thousands of years
c. about five years
d. eighteen months
Take your answer choice and find the value of the letter you chose.  When you walk into the room, take this many pieces of candy out of the jar.  Good work!
Group Copy: Predators
Clue: Waypoint 3
Protective coloration to aid an animal to survive in its environment is known as…..

a. hibernation

b. migration

c. camouflage

d. mimicry

To find your first waypoint, locate the value of the answer choice on the key.  Multiply this number by 100 and add five to get your first waypoint location.

To get to your next waypoint, locate the value of the word that you chose using the key.  Multiply this number by 4 and then subtract 168 to get your next waypoint number.

Group Copy: Predators
Clue:  Waypoint 2

Every time a physical environment is changed, all the animals in that environment must…

a. move to a new habitat

b. adapt to the changes or become extinct
c. nothing at all because the environment will take care of them
d. adapt to a new eating pattern
e. all the above
To get to your next waypoint, find the value of your answer choice using the key and multiply this number by 12.  To your new number, add 3.  This will give you your next waypoint number.
Group Copy: Predators
Clue: Waypoint 1

Imagine yourself at a picnic in a park. It is a beautiful day, and everything is just great! You lay out your food, build a fire, and start roasting your hot dogs. Then, suddenly, the wind starts blowing, the sky gets cloudy, lightning flashes, thunder rolls, and rain starts pouring down. You, your food, and your fire, all start to get wet. What are you going to do?

a. You could do nothing, in which case, your food will get soaked, your fire will go out, and you will get cold and wet and probably hungry. You might even be struck by lightning!

b. You could put on a big raincoat or put up a tarp to keep yourself, your food, and your fire dry while you finish your picnic. (Of course, you will still have to keep an eye on that pesky lightning.)
c. You could pick up your stuff, go under a park shelter, and use the gas burners to cook your food and finish your picnic.
d. You could just go home and have an indoor picnic.
e. All of the above

To find your next waypoint number, find the value of your letter choice using the key provided.  Starting with this number count up the next five multiples and add 4 to get your next waypoint number.  
Group Copy: Predators
Clue: Waypoint 6

Structural adaptations are physical features of an organism like the bill on a bird or the fur on a bear.  What are behavioral adaptations?

a. a change in a species over a long period of time

b. genes that help an animal survive longer or better in some environments

c. things organisms do to survive

d. what happens to an animal who is unable to adapt to its habitat

To get to your next waypoint location, find the value of the letter choice you made using the key provided.  Multiply this number by 456 and then subtract 445 to get your next waypoint location.

Group Copy: Predators
Clue: Waypoint 5

Imagine a bird species. One day a bird is born with a beak that is longer than the beak of other birds in the species. The longer beak helps the bird catch more food. Because the bird can catch more food, it is healthier than the other birds, lives longer and breeds more. The bird passes the gene for a longer beak on to its offspring. They also live longer and have more offspring and the gene continued to be inherited generation after generation. Eventually the longer beak can be found in all of the species.  How long did this change take?

a. overnight

b. thousands of years
c. about five years
d. eighteen months
To get your final waypoint location, find the value of the first word in your answer choice using the key provided.  Multiply this number by 6 and subtract 322 to get your final waypoint location.
Group Copy: Predators
Clue: Waypoint 4

What four basic parts do most land animals have?

a. A spine, nervous system, two limbs, and a skull.

b. Eyes, ears, four limbs, and a spine

c. Teeth, flesh, four limbs, and eyes

d. A spine, ribs, four limbs, and a skull

Take your answer choice and find the value on the key subtract 2 from this number.  As you enter the room, take this many pieces of candy from the jar.  Good work!

Group Copy: Prey
Clue: Waypoint 2
Every time a physical environment is changed, all the animals in that environment must…

a. move to a new habitat

b. adapt to the changes or become extinct
c. nothing at all because the environment will take care of them
d. adapt to a new eating pattern
e. all the above

To find your first waypoint, locate the value of your answer choice on the key.  Multiply that number by 88 to get your first waypoint number.

To get to your next waypoint number, take your previous waypoint number and subtract 149 to get your next waypoint number.  

Group Copy: Prey
Clue:  Waypoint 1

Imagine yourself at a picnic in a park. It is a beautiful day, and everything is just great! You lay out your food, build a fire, and start roasting your hot dogs. Then, suddenly, the wind starts blowing, the sky gets cloudy, lightning flashes, thunder rolls, and rain starts pouring down. You, your food, and your fire, all start to get wet. What are you going to do?

a. You could do nothing, in which case, your food will get soaked, your fire will go out, and you will get cold and wet and probably hungry. You might even be struck by lightning!

b. You could put on a big raincoat or put up a tarp to keep yourself, your food, and your fire dry while you finish your picnic. (Of course, you will still have to keep an eye on that pesky lightning.)
c. You could pick up your stuff, go under a park shelter, and use the gas burners to cook your food and finish your picnic.
d. You could just go home and have an indoor picnic.
e. All of the above
To get to your next waypoint number, find the value of your answer choice using the key provided.  Starting with that number, count up the next five multiples and add 4 to get to your next waypoint location.
Group Copy: Prey
Clue: Waypoint 6

Structural adaptations are physical features of an organism like the bill on a bird or the fur on a bear.  What are behavioral adaptations?

a. a change in a species over a long period of time

b. genes that help an animal survive longer or better in some environments

c. things organisms do to survive

d. what happens to an animal who is unable to adapt to its habitat
To get to your next waypoint number, find the value of the letter that you chose using the key provided.  Multiply that number by 300 and add 23 to get to your next waypoint location.
Group Copy: Prey
Clue: Waypoint 5

Imagine a bird species. One day a bird is born with a beak that is longer than the beak of other birds in the species. The longer beak helps the bird catch more food. Because the bird can catch more food, it is healthier than the other birds, lives longer and breeds more. The bird passes the gene for a longer beak on to its offspring. They also live longer and have more offspring and the gene continued to be inherited generation after generation. Eventually the longer beak can be found in all of the species.  How long did this change take?

a. overnight

b. thousands of years
c. about five years
d. eighteen months
To find your next waypoint number, find the value of the first word in the answer you chose using the key. Multiply that number by 4 and subtract 80 to get your next waypoint number.  
Group Copy: Prey
Clue: Waypoint 4

What four basic parts do most land animals have?

a. A spine, nervous system, two limbs, and a skull.

b. Eyes, ears, four limbs, and a spine

c. Teeth, flesh, four limbs, and eyes

d. A spine, ribs, four limbs, and a skull
To find your final waypoint location, find the value of the letter you chose using the key provided. Multiply that number by 150 and subtract 295 to get your final waypoint location.
Group Copy: Prey
Clue: Waypoint 3

Protective coloration to aid an animal to survive in its environment is known as…..

a. hibernation

b. migration

c. camouflage

d. mimicry

Take your answer choice and find the value on the key subtract 1.  When you enter the room, take this many pieces of candy from the jar.  Good work!
Group Copy: Camouflage
Clue: Waypoint 1
Imagine yourself at a picnic in a park. It is a beautiful day, and everything is just great! You lay out your food, build a fire, and start roasting your hot dogs. Then, suddenly, the wind starts blowing, the sky gets cloudy, lightning flashes, thunder rolls, and rain starts pouring down. You, your food, and your fire, all start to get wet. What are you going to do?

a. You could do nothing, in which case, your food will get soaked, your fire will go out, and you will get cold and wet and probably hungry. You might even be struck by lightning!

b. You could put on a big raincoat or put up a tarp to keep yourself, your food, and your fire dry while you finish your picnic. (Of course, you will still have to keep an eye on that pesky lightning.)
c. You could pick up your stuff, go under a park shelter, and use the gas burners to cook your food and finish your picnic.
d. You could just go home and have an indoor picnic.
e. All of the above

To find your first waypoint, locate the value of your answer choice on the key.  Multiply the answer by 5 and add 12.    

To get to your next waypoint, you must take the previous waypoint number and divide it by 3.  Multiply your quotient by 4 and subtract 2.  This will get you to your next waypoint.

Group Copy: Camouflage
Clue:  Waypoint 6

Structural adaptations are physical features of an organism like the bill on a bird or the fur on a bear.  What are behavioral adaptations?

a. a change in a species over a long period of time

b. genes that help an animal survive longer or better in some environments

c. things organisms do to survive

d. what happens to an animal who is unable to adapt to its habitat

To find your next waypoint, find the value of your choice on the answer key.  Multiply this number by 307 and add 2.  This will get you to your next point.
Group Copy: Camouflage
Clue: Waypoint 5

Imagine a bird species. One day a bird is born with a beak that is longer than the beak of other birds in the species. The longer beak helps the bird catch more food. Because the bird can catch more food, it is healthier than the other birds, lives longer and breeds more. The bird passes the gene for a longer beak on to its offspring. They also live longer and have more offspring and the gene continued to be inherited generation after generation. Eventually the longer beak can be found in all of the species.  How long did this change take?

a. overnight

b. thousands of years
c. about five years
d. eighteen months
To get to your next waypoint, find the value of the first word in your answer choice using the key.  Multiply this number by 3 and add 41.  This will give you the number to your next waypoint.

Group Copy: Camouflage
Clue: Waypoint 4

What four basic parts do most land animals have?

a. A spine, nervous system, two limbs, and a skull.

b. Eyes, ears, four limbs, and a spine

c. Teeth, flesh, four limbs, and eyes

d. A spine, ribs, four limbs, and a skull

To get to your next waypoint, divide your last waypoint number by 2.  Then add 103 to get to your next stop.  

Group Copy: Camouflage
Clue: Waypoint 3

Protective coloration to aid an animal to survive in its environment is known as…..

a. hibernation

b. migration

c. camouflage

d. mimicry
To get to your final stop, find the value of the word you chose.  Multiply this answer by 2 and add 4.
Group Copy: Camouflage
Clue: Waypoint 2

Every time a physical environment is changed, all the animals in that environment must…

a. move to a new habitat

b. adapt to the changes or become extinct
c. nothing at all because the environment will take care of them
d. adapt to a new eating pattern
e. all the above
Take your answer choice and find the value on the key.  When you walk into the room, take this many pieces of candy out of the jar.  Good work!
